GENERAL NOTIES:

1. ROLL—UP SHUYTER SHOWN ON THIS PRODUCT EVALUATION DOCUMENT (P.E.D.) HAS BEEN VERIFIED FOGR CODE
COMPLIANCE IN ACCORDANCE WITH THE 2074 (5th EDITION) OF THE FLORIDA BUILDING CODE.THIS ROLL—UP SHUITER SHALL
NOT BE INSTALLED AT HIGH VELOCITY HURRICANE ZONES (MIAMI—DADE COUNTY / BROWARD COUNTIES).

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1609 OF THE ABOVE MENTIONED CODE,
FOR A BASIC WIND SPEED AS REQUIRED BY THE JURISDICTION WHERE THESE SHUTIERS WILL BE INSTALLED
FOR A DIRECTIONALITY FACTOR Kd=0.85. USING ASCE 7—-10 FOR INSTALLATIONS UNDER 2014 FBC

AND SHALL NOT EXCEED THE MAXIMUM (A.S.D.) DESIGN PRESSURE RATINGS INDICATED ON SHEETS 5, 6' 8 9 & 10 THRU 13,

IN ORDER TO VERIFY THE ABOVE CONDITION, ULTIMATE DESIGN WIND LOADS DETERMINED PER ASCE 7—10
SHALL BE FIRST REDUCED TO AS.D. DESIGN WIND LOADS BY MULTIPLYING THEM BY 0.6 IN ORDER TO
TO COMPARE THESE W/ MAX. (A.5.D) DESIGN PRESSURE RATINGS INDICATED ON SHEETS 5, 6, 8, 9 & 10 THRU 13.

IN ORDER TO VERIFY THAT COMPONENTS ON THIS P.E.D. AS TESTED WERE NOT OVER STRESSED, A 33% INCREASE IN
ALLOWABLE STRESS FOR WIND LOADS WAS NOT USED IN THEIR ANALYSIS, HOWEVER A DURATION FACTOR CD=1.60
WAS USED FOR ANCHORS IN WOOD.

ROLL—UP SHUTTER'S ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE WITH
SECTION 1609.1.2 OF THE ABOVE MENTIONED CODE AS PER HTL REPORTS # 0187—-0406-99, 0187-0422-93,
0187—0467-99, 0187-0408—-99, 0187—0423—-99, 0187-0413—99, G187-0414—99 AND FIL REPORTS #3521,
#3522, #3523, #3524 AS PER TAS—201, TAS—202 & TAS~203 PROTOCOLS.

2. ALL ALUMINUM EXTRUSIONS SHALL BE ALUMINUM ASSOCIATION 6063—T6 ALLOY & TEMPER (SEE SHEET Z).

3. ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 AlS! SERIES OR CORROSION RESISTANT COATED CARBON STEEL
AS PER DIN 50018 W/ 50 ksi YIELD STRENGTH AND 90 ksi TENSILE STRENGTH. ALL TEK SCREWS SHALL BE AS
MANUFACTURED BY ITW BUILDEX, INC. & SHALL COMPLY W/ FLORIDA BUILDING CODE SECTION 2411.3.3.4.

4. BOLTS TO BE ASTM A-307 GALVANIZED STEEL OR AISI 304 SERIES STAINLESS STEEL, WITH 36 ksi MINIMUM YIELD
STRENGTH.

5. STORM BARS AT FLOOR AND CEILING MOUNTING INSTALLATIONS MAY BE REMOVABLE AT NON HURRICANE CONDITIONS,
HOWEVER, EACH STORM BAR SHALL BEAR A PERMANENT LABEL IN A VISIBLE PLACE WITH A WARNING NOTE
INSTRUCTING THE TENANT OR OWNER THAT STORM BARS MUST BE INSTALLED WITH CORRESPONDING HARDWARE
DURING PERIODS OF HURRICANE WARNING AND THAT. ROLL UP SHUTTERS WILL NOT OFFER HURRICANE PROTECTION
UNLESS ALL STORM BAR ARE INSTALLED AS DIRECTED.

6. REMOVABLE STORM BARS SHALL BE STORED IN A CONSPICUOUS PLACE WITH EASY AND IMMEDIATE ACCESS SO THAT
THEY CAN BE REACHED AND INSTALLED ANY TIME (HURRICANE CONDITIONS OR NOT)} SLATS ARE ROLLED DOWN. THE
EFFECT OF THE SLATS ROLLED DOWN WITHOUT STORM BARS iS; THOSE SLATS WILL SLIP OUT OF TRACK DUE TO THE
DEFLECTION CAUSED BY WIND FORCES.

WHEN REMOVING STORM BARS, ONE STORM BAR SHALL ALWAYS BE LEFT INSTALLED (SHALL NOT BE REMOVED). THIS
CONDITION IS ONLY REQUIRED FOR HEADER SPANS EQUAL OR GREATER THAN 12°-07

7. ANCHORS TO WALL FOR SIDE RAILS & BOX CONNECTION SHALL BE AS FOLLOWS: {(UNLESS OTHERWISE NOTED)

(A) TO EXISTING POURED CONCRETE (Fc=3192 psi Min.):
—1/4" 8 TAPCON ANCHORS AS MANUFACTURED BY ITW BUILDEX, INC.

NOTES:

A1) MINIMLUM EMBEDMENT OF TAPCON ANCHORS INTO POURED CONCRETE SHALL BE 1 3/4,
INTO STUCCO SHALL BE CONSIDERED AS PART OF THE REQUIRED EMBEDMENT.

NO EMBEDMENT

(B} TO EXISTING CONCRETE BLOCK WALL (ASTM C-90):
—1/4" @ TAPCON ANCHORS, AS MANUFACTURED BY ITW BUILDEX, INC.

THIS DRAWING SHALL ONLY BE USED TO
OBTAIN PERMITS IN THE STATE OF FLORIDA

NOTES:
B.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS, INTO THE CONCRETE BLOCK UNIT SHALL BE 1 1/47

B.2) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING WALL,
ANCHORS SHALL -BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS.

(C) TO EXISTING WOOD FRAME BUILDING: SOUTHERN PINE #2 W/ 6=0.55 OR DOUGLAS FIR W/ G=0.42 MIN.

8.

a.

10.

11.

12.

13

74.

—1/4" @ LAG SCREW PER NDS, WITH 1 1/27 MINIMUM THREADED PENETRATION BEYOND ANY WALL FINISH..

(D) ANCHORS REQUIRED FOR STORM BARS, HEADERS & MULLION CONNECTIONS TO CONCRETE (fe'=3 ksi} SHALL BE
AS SPECIFIED ON APPLICABLE SECTIONS SHOWN ON SHEFTS 5, 6, 7 & & OF 13 RESPECTIVELY.

KWIK BOLT TZ AS MANUFACTURED BY HILTI, INC. CALK—IN ANCHORS AND POWER BOLTS TO BE MANUFACTURED
BY POWERS FASTENERS, INC., & TAPCON ANCHORS AS MANUFACTURED BY ITW BUILDEX, INC.

(E) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE
ANCHOR'S MANUFACTURER.

A—150—H & A—200—H SLATS FOAM PLASTIC CORE SHALL CONSIST OF 100/100 PARTS BY WEIGHT OF ELASTOPOR R
P12041 R(1.06 SPECIFIC GRAVITY) RESIN + ELASTOPOR R P1007 U (1.22 SPECIFIC GRAVITY) ISOCYANATE.

SLATS FOAM PLASTIC CORE SURFACE BURNING CHARACTERISTICS HAVE BEEN VERIFIED IN ACCORDANCE WITH SECTION

2603.3 OF THE FLORIDA BUILDING CODE AS PER CELOTEX CORPORATION TEST REPGRT #520274A & 5202748
RESPECTIVELY.

IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE
SHUTTER IS TO BE ATTACHED TO INSURE PROPER ANCHORAGE. THIS SHUITER SHALL ONLY BE ATTACHED TO
CONCRETE, BLOCK OR WOOD FRAME BUILDINGS.

THE INSTALLATION CONTRACTOR IS TO SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN CONTINUOUS
CONTACT WITH THE BUNLDING TQ PREVENT WIND/RAIN INTRUSION. CAULK AND SEAL SHUTTER TRACKS ALL- AROUND
FULL LENGTH.

ROLL—UF MECHANISM NOT PART OF THIS APPROVAL, BUT SHALL BE CERTIFIED BY AN INDEPENDENT TESTING AGENCY.

ROLL—UP SHUTTER INSTALLATION SHALL COMPLY WITH SPECS INDICATED IN THIS DRAWING PLUS ANY BUILDING AND
ZONING REGULATIONS PROVIDED BY THE JURISDICTION WHERE PERMIT IS APPLIED TO,

{a) THIS P.E.D. PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE INFORMATION FOR A SITE
SPECIFIC PROJECT; ie. WHERE THE SITE CONDITIONS DEVIATE FROM THE P.E.D.

(b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE SAFETY OF
THIS PRODUCT, BASED ON THIS P.E.D. PROVIDED
HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILED ON THIS DOCUMENT. CONSTRUCTION SAFETY AT SITE
IS THE CONTRACTOR'S RESPONSIBILITY.

(e} THIS P.ED. WiLL BE CONSIDERED INVALID IF ALTERED BY ANY MEANS.

(d} SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER OR ARCHITECT WHICH WILL
BECOME THE ENGINEER OF RECORD (E.0.R.) FOR THE PROJECT AND WHO WILL BE RESPONSIBLE FOR THE
PROPER USE OF THE P.ED. ENGINEER OF RECORD, ACTING AS A DELEGATED ENGINEER TO THE P.E.D. ENGINEER,
SHALL SUBMIT TO THIS LATTER THE SITE SPECIFIC DRAWINGS FOR REVIEW.

(e} THIS P.E.D. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL
ENGINEER OF RECORD THAT PREPARED IT.

SHUTTER MANUFACTURER'S LABEL SHALL BE LOCATED ON A READILY VISIBLE LOCATION AT ROLL-UP IN ACCORDANCE
WITH SECTION 1710.8.3 OF FLORIDA BUILDING CODE. ONE LABEL SHALL BE PLACED FOR EVERY OPENING. IABELING
70 COMPLY WITH SECTION 1710.8.2 OF THE FLORIDA BUILDING CODE.

FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)

©2015 TILTECO, INC. ROLL—UP SHUTTER/WIND BORNE DEBRI REGION F.R.L.
RLL—4, Rl -3, A~200—H, A—150—-H SLATS DRAWN 8-
_'-r_-__ ROLLAC SHUTTERS OF TEXAS, INC. 04{;%15
IL ECO INC. 5331 ORANGE STREET
T G G e N PHONE: (500) 5;?—%:;? Iz;qx.-ﬁfzifr) 485--0839 15~059
Phone :zgéf:‘_?%asé’;g (3:}:7? ?iﬂ' EY.'Na == O‘;‘;;_/,s mj"’ AT ORAWING No
FLORIDA L;cfr'l’f} 167 2 r SHEET 1 OF 15




TYPICAL SINGLE UNIT ELEVATION (NO STORM BARS REQUIRED)

NOTE: SEE SHEET 2 & 3

OF 13 FOR COMPONENTS NOMENCLATURE

TYPICAL MULTIPLE UNIT ELEVATION (STORM BARS REQUIRED)

NOTE: SEE SHEEYT 2 &£ 3 OF 13 FOR COMPONENTS NOMENCLATURE.

MAXIAUM HEADER SPAN (SEE SCHEDUALE)
&2 /—® pu-3/5 ]WS"?—@ /—(D Dor)
Cont.
T }
l / / / /
7 2 &7 / A
7 7 ] N7 [, f
3 ; s % 5/567— | —s/5.67—s5/567—) |—5/5.6,7 v 3
2 Z M ® ©*@ 7 = ="""= = 72
& e vy v &
§ ~ % ~ =g 7 e e = f ki < ,/’ ~ \%
3:3 F/4 Z - e ? P/4 p/a //4 ___,5/4 P /g é 2
7 ., O00*0O—4 | &
b 2 Z () 7 — 7
7 7 Y 1 2
7 g//@ E@EO—4 2
; [ j// T == ———— = 7 §
2 f (Typ Fa. END) éi ]5/5,6,7 |~ sme7___5/567 _|[_S/567 f T
bx/ “ Max. SLAT SPAN (SEE SCHEDULE) |»W_5/8 1DW5'6’7 II_
Max. SLAT SPAN (SEE SCHEDULE) Max. STURM BAR SPACING (SEE SCHEDULE) .

M. MiALION spACWG.' Max. wtffgfv SHAGING (SEE SCHEDULE) @0R®
/t 1/8 B w-1,/8 /_® p w28 P yvser w-2/8 v/s 67
®\/ Yo L A Al LLL Y L Lt /// // 7 / //////// LSS
| T Al | ® OBHO0)
©. G i h ® =@ U L/ !
@@OR@ @ @ @on@ ‘ : 0 \\.// I f g
B % J I f | /5.6, F—s/56 I /5,67~ F5/5.6,7 I 9§
Q@ | I I — @@ ©*@—|| = ==l il
E@ ® — i @) I = h : é
ol f i > Ee— oy [ iy | i [ e 8=
g l H I a4 | o/ R4 || = s/s67 s m67] || g
3 @ = ;i :;?;; @ @ @ oR ®: 1 | 53
> an | —a/4 ll || (Tvp-) T | — H > 3
| | — I e o] | 1 o ot
3 = ! ;@ ®@®'§—-“_'~—':F s | i 1] L r/g] | f—r/4 3 3
| T I R/t f o= (7) | I W I I =
| I | (o o 270 | I | ]
N ] ¥ ANNANNANNNNANNANNNNNNNNNNNSRANNNNNNNNNN [\\ AN SRR /AR SRR AR F AN NN AN ANNNN SN
\I; d1/8 b v-18 P \I; W—2/8 v/56,7 n W-2/8 b ‘l V/5,6,7 i
Mox. SLAT SPAN Max. %%W SPACING t
(SEE SCHEDULE) | E] T

(SEE SCHEDULE)

TYPICAL CONSECUTIVE SINGLE UNIT ELEVATION (NO STORM

BARS REQUIRED)

TYPICAL CONSECU TIVE MULTIPLE UNIT ELEVATION (STORM BARS REQUIRED)

NOTE: SEE SHEET 2

& J OF 13 FOR COMPONENTS NOMENCLATURE,

f & 3 OF 13 FOR COMPONENTS NOMENCLATURE.

FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)

ez05

TILTECO, INC.

/ TILIECO me \

8355 N.W. 36th. St,

FLORIDA

Lic. # 44167

TILLIT TESTING & ENGINEERING COMFANY

Phone .'(305)871—?530 Fax = (306)871—1‘53!
EB—-00D6719
WALTER A Tt Jr. PE

ROLL—UP SHUTIER/WIND BORNE DEBRI REGION F.RL.
RiLL—4, R -3, A—200—H, A—150-—-H SLATS DRAWN BY:
ROLLAC SHUTTERS OF TEXAS, INC. °‘ﬁ%‘5
5331 ORANGE STREET
PEARLAND, TX. 77581 15—-059
FHONE: (800) 880-0922, [FAX: (281) 485-0839
REV. Mo DESCRPTION DATE REV, W DESCRETION DATE DRAWING Mo
: o8 o jesfen/ior ¥ SHEET 14 OF 13

z

*




o % 287 1/8%25/32" —.492" ' +.000" | i 4.000” n
%250,, LS r/axzsf_gzmanm VENTS . ?f’;ﬁ%’“gﬂ _244-_ N -
C / ©1 3/470.C. ALLOWED. {“105 ‘ o ‘g 217’ %893%‘520.0_ Anﬁwévzym 326¢ _[
9700 158} ~,,
: . B “i ol | ] B L
47" Tvp. EXCEPT e Q 2 125" |~
AS NOTED. k. -055" -~ 2507 2 ~ (Tip.)
——R5.250 s o b R7.936 —:‘; ,p,.gs&. )
k2000 } E = o R2.000 . ore- 8 R7G87™— !
' J ' o ) =, N;_Rj_us'-*—*—’f—'ﬁ .
D 5 3 1210 p1.969
=[ . 9 8 .125" {n 1 - TYPE 1 HEADER: TYPE 2 HEADER:
- S \ FOA LASTIC FOAM FLASTIC CORE %
2 L oo | 0r © : (SEE CENERAL NOTE & . (SEE GENERAL NOTE 4 HEAVY EXTRUDED HEADER 4" EXTRUDED HEADER
T |_ TYPE 2 SLAT: 255- L ON SHEET 1 OF 13) 342" ON SHEET 1 OF 13} 6063—T6 ALUMINUM ALLOY GOE3—-T6 ALUMINUM ALLOY
— 3607 .@ e ) - SCALE: 1/2° = 1” SCALE: 1/27 =17
L ssol- RLL=3 SLAT ©) TYPE 3 SLAT: (D) TYPE 4 SLAT:
TYPE 1 SLAT- EXTRUDED ALUMINUM A—200—-H SLAT A—150—H_SLAT ‘ 4.000" - - %
@ 6063—T5 ALUMINUM ALLOY 55mm (¢ = .019%) HIGH 40mm (t = .0177) HIGH T—i | |l_97" —1f—— j
RLL—4 SLAT SCALE: 1/2 = 1" DENSITY FOAM PLASTIC CORE DENSITY FOAM PLASTIC CORE 5 E
oo gﬁgﬁ%ﬁﬁﬂﬁ’vﬁﬂ or - SHEET METAL ALUMINUM SLAT SHEET METAL ALUMINUM SLAT g e T N
SCALE: 1/2" = 17 TYBE 1 THRU 4 SLATS SHALL BE INSTALLED SJ005—H48 ALUMINUM ALLOY JO05—-H48 ALUMINUM ALLOY i T3 T
W/SIDE LOCKS AT EVERY OTHER SLAT. SCALE: 1/2" = 17 SCALE: 1/2" = 1" L
: i TYPE 3 HEADER: %%
2000 2000 I 17x4” EXTRUDED HEADER ©) TYPE 1SIDE RAIL™ S
\ 606375 ALUMINUM ALLOY RILL—25 SIDE RAIL
g . o SCALE: 1/2" = 1° 8063-T5 Alum. ALLOY
, to.8 Ee g SCAE: 1/2" = 17
i
X T ; 062" | | 5 2500 B
§ 070, J “1 = 1'?-—[2 - Q !—_.977’—-| 3 =
E 3 " 125" |- . o N S T
8 25071 = S 125" |- {(Typ.) Sh 33 3 - N Jr
2 8 g () g 88 T | e
f 055" g__ —;r 5 .J__ .
) 1—1.320';]9';_—1.509'““ x :%f 511" 'c.
} Q
- J TYPE 2 SIDE RAIL TYPE 3 SIDE RAIL
”TYP E 3 STORM BAR. R MR L s ® RLL—40 SIDE RAIL @ RLL—1 SIDE RAIL
3" EXTRUDED STORM BARS > S065-15 Alurm. ALLOY 606315 Aurn. ALLOY
606376 ALUMINUM ALLOY SCALE: 1/2" = 1" SCALE: 1/2% = 17
E) TYPE 1 STORM BAR: TYPE 2 STORM BAR: SCALE: 1727 = 1 (H) TYPE 4 STORM BAR: ey
4" HEAVY EXTRUDED STORM BAR 4" EXTRUDED STORM BARS f———2.000"—— RUZ15 + RIUL—16 EXTRUDED STORM BAR : 250" S| M |
_ . R o . 2 S
606376 ALUMINUM ALLOY 6063—T6 ALUMINUM ALLOY 6063—15 ALUMINUM ALLOY g [t — T 7
SCALE: 1/27 = 1 SCALE: 1/2" = 1" SCALE: 1/2" = 1" T: ' Jw_} RES g X
, £.000" ) ) 3.000" , ) 3.000" ) Eg | S S | @ % T T C \_I\M}:L—L
E | | | . ‘ | i - 29T y
T < x b
3 s |- TYPE 4 SIDE RAIL % © IYPESSIDERALL *
@) géé;% AliﬁEAL%{{_ G063—T5 AJ;um. ALLOY
SCALE: 1/27 = 17 SCALE: 1/2" = 1"
— 125"
. (T)’P.) 4043 ]
< - - ¥ - 2.574" " 1.469" 4
3 TYPE 3 MULLION: i Teee —'f’m Alon S
¥ 125%— | = ¥ L ’ . N
3" EXTRUDED MULLION
) 188" |- (tvp) 6063—T6 ALUMINUM ALLOY T b :
3 (hp.) SCALE: 1/2" = 17 §" 5 B
O :
< Aii 2.000" i ["-—M : %ua_ﬂ;TrL
o8z —“_ 2.574" J: :g
e (T) MAXI CENTER RAIL -
are. RLL—7 SIDE RAIL
. BALD-OUT TUBES 6063—T5 Alum. ALLOY
@ TYPE 2 MULLION: 8 vl& R "E{?}féﬁ@gg TUBE SCALE: 1/2" = T"F1 ORIDA BUILDING CODE (Non High Velocity Hurricane Zone)
4" EXTRUDED MULLION ] 5503— — h:‘g‘w:;&‘ 506;&—%’-’3 Atuﬂwg% ALLOY @2015 TILTECO, INC. ROLL—UP SHUTTER/WIND BORNE DEBR! REGION F.RL
6063—T5 ALUMINUM ALLOY " & =% RLL—4, RLL—3, A-200—H, A—150—H SLATS ORawN &r:
SCALE: 1/2" = 17 f‘ 3 ‘%
fo. 44? 67 / ILIECO \ ROLLAC SHUTTERS OF TEXAS, INC.| °/ou®
. - IHC. 5331 ORANGE STREET
@ TYPE 1 MULLION. TYPE 4 MULLION: m_ur TESTING & ENGINEERING COMPANY PHONE: (800) B’:‘?_Réggg' Ti;‘\,? 7(52%7,) P— 15—-059
6" EXTRUDED MULLION OMP ON E N TS 37 EXTRUDED MULLION 5 B CsoRIaT1 1580 o ¢ (ORI T .- —1  orame No
6063—T5 ALUMINUM ALLOY " BD63—TE ALUMINUM ALLOY g E0008719 - : e P e
SCALE: 12" = 17 SCALE: 1/2" = 1" FLORIDA Lic, f 44167 . p SHEET 2 OF 13




L— 148"
“ o
B

il
f

L 344"

E—
047" __| J Ju
TYP. 0 e

X A A
o : -
-~
< »

- .296

i
.rso"~-! ‘« 2
484" | | 2

RIL—6
FOR RLL—4 & A-Z200-H
EXTRUDED ALUMINUM
BO63—-T5 ALUMINUM ALLOY

DETAILS

%E1
9
e

7.

Ml

RiL-5

FOR RLL—3 & A—150-H

EXTRUDED ALUMINUM

E063—-T5 ALUMINUM ALLOY

@
it
Twia 90 ™~ /

RV 45& RV 45/S
HOUSINGS

(V) BOX COMPONENTS AND ASSEMBLY DETAIL %%

{SEE NOTE 11 ON SHEET 1)

STUBDETAIL 1

(M. T. 5)

X) SIDE CAPS:

BK 90, BK 45 & BK 45/S

/

SIOE CAP HETSHT
(SEE SCHEDLLES

/

45" CHAMFER

A5 APPLICABLE

COMPONENTS FOR GEAR OFPERATED SYSTEM

GEAR
UNIVERSAL & CRANK
CRANK HOLDER(OPTIONAL)

IDLER INSERT
BALL BEARING
- OCTAGONAL AXLE *

SIDE/END CAP *

SIDE RAIL
PLUG—BUTTOMS
ALUMINUM SLATS
BASE SLAT
PLASTIC STOPS{OPTIONAL)
SIDE LOCKS{OPTIONAL)
STAPLES{OPTIONAL)
SPRINGLOCK HANGER
SAFETY PLATES
ADDITIONAL COMPONENTS FOR
MOTORIZED QFPERATED SYSTEM

~ TUBULAR MOTOR

— MOTOR DRACKET

— SWITCH

FASTENERS

GEAR INSERT(GEAR TO AXLE CONNECTOR)

ENTRY GUIDES (ONLY FOR A—150—H SLAT)

HOUSING(FRONT & BOTTOM), 0.040” THICK

SIDE CAP HEIGHT SCHEDULE

Yee| g0 15
1 40" N/A
2 5.07 N/A
3 5.5" N/A
4 60" 6.0"
5 6.5" 6.5"
6 7.0” 7.0"
7 8.0" 8.0"
8 9.0" 9.0"
g 10.0" 10.0"

10 N/A 12.0"

MAA = NOT APPLICABLE

* SHALL BE CAPABLE TO SUSTAIN SIAT'S WEIGHT AND ASSURE LIFTING
MECHANISM (SEE NOTE 11/1).

€3 — 3/76” ALUMINUM POP RIVETS(6 REQD EA.

SIDE CAP) : 2 @ TOP, 2 @ REAR, 2@ BOTTOM
FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)

2015 TITECG, INC.

/ TIECO me. \

TILLIT TESTING & ENGINEERING COMPANY
G355 N.W. J6th Si, Ste 305 VRGINIA GARDENS, 3166
Phone : {305)871—1530 . Fax : {(J05)871—1531
EB—0p06718
WALTER A THLIT Jr. P.E
FLORIDA Lic. # 44167

ROLL—UP SHUTTER/WIND BORNE DEBRI REGION

F.R.L.

RlLL—4, RLL—3, A—200—-H, A-150—H SLATS DRAWN BY;
ROLLAC SHUTTERS OF TEXAS, INC.| ©/%/
5331 ORANGE STREET
PEARLAND, TX. 77581 15—-059
PHONE: (800) 880-08922, FAX: (281) 485-0839
REV. No DESGRIFTION DATE REY. No DESCRIPTION DATE DRAWING No
7 olp 11-238 |peso2/15 3

2

+

SHEET 3 OF 13




TAPCON ANCHORS
(SEE SCHEDULE ON

POURED CONCRETE OR
CONCRETE BLOCK

REQUIRED ‘\

®© @

Z"x 27 x 1/8" Cont.
[N ALUMINUM ANGLE

1/4% x 3/4" TEK SCREW
é 6”0 ¢

%

REGQUIRED e

x 2" x 1/8" Cont.

Alum. ANGLE W/ TAPCON
YANCHGRS @ 1270

TAPCON ANCHORS

1" x 27 x 1/8" Cont. Alum. ANGLE
W/TAPCON ANCHORS @ 12" 0. €

POURED CONCRETE
REQUIRED

TAPCON ANCHORS
(SEE SCHEDULE ON
SHEET 13 OF 13)

POURED
CONCREIE OR
CONCRETE
BLOCK
REQUIRED

@ ©®O~0

2" x 2" x 125"
Cont. Alum. ANGLE

TAPCON ANCHORS
(SEE SCHEDULE ON
SHEEY 13 OF 13)

Cont. 1%2%, 2%2",

® e

2%3" OR

2%4"%x1/8" ALUMINUM TUBE,
W/ 1/4 # TAPCON ANCHORS

@ 12" 6C.

TAPCON ANCHORS
{SEE SCHEDULE ON
SHEET 13 OF 13)

POURED CONCRETE

OR CONCRETE BLOCK

REQUIRED

) seCTIONP-P (3): BULD-OUT

NTS

* x 2" x 1/8” Cont. Alum. ANGLE
w/ 1/4°0 x 3/4° TEK SCREW @ 12" 0. (.

|__POURED CONCRETE
OR CONCRETE BLOCK
REQUIRED

SHEET 13 OF 13) @ ® @ ""m- :
4 G wieis o e « (9 ] u'“ T e /@ © =@
N /@ T R |
_n,;um e Se.5) E£D - ‘K‘ § el @/jix@§/4” TEK SCREW. . . |$
ZEi AN ELi i gl | ST x oo
ax. i EQ, 1/4=
§ @ ® @ POURED CONCRETE . Ll e oo | B @ OR@ @ ® ._/ A;;x.
x| > D@ —e | > we
SECTION P - P (1) : WALL MOUNT el ety I ey | SECTION Q- Q : MULLION MOUNT
N.T.S. 174" N.T.5.
SECTIONP-P (2): SIDE WALL MOUNT @_/ Wa.
MNT.S @ @ X3 D)>

1/4% x 3/47 TEK —|

SCREW

PRolcioNe

/@@(@m@

@ 6" 0. C

s a2 S5
C / 1/8"
SECTIONR - R : MULLION MOUNT
NT.S.

@"R@\

1/4°¢ x 3/4" TEK SCREW
@ 5”0 C

®©@
® =

\ @an

< ]

ese s |

s esw

L)

174"
Max.

Ww-17

Jig

SECTION R - R : MULLION MOUNT

174"

Max.

- * % 3"

[e OR
T Cont. ALUMINUM ANGLE

TAPCON ANCHORS

N.T.S.

FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)

@ 1270 C
", ©2015 TILTECO, INC. ROIL—UP SHUTTER/WIND BORNE DEBRI REGION F.RL
SR e RLL—4, RLL-3, A—200-H, A~150—H SIATS | ORamN o
_ ~__ SECTION X - X (3) ROLLAC SHUTTERS OF TEXAS, INC.| /o/'s
oy s s e ILIECO nc. 5 oo e
8 12" 0. ¢ SECTION X -X(2) el Eﬁ””; & ENGINEERING COMPANY. PHONE: (800) 8800922, FAX- (281) 485-0859 1 95—059
. - Phone : (3055871~ 1390 - P (305)8?! 21531 - e T e = RAWING No
SECTION X - X (1) w&mﬁo%ﬁsggr. P.E m'm oD 117238 \o4/05/15) ¥
N TS N TS FLORIDA Lic. # 44167 z < SHEET 4 OF 13




1"%2%1/8" Cont. Alum. ANGLE W/

MAXIMUM STORM BAR HEIGHT FOR THIS INSTALLATION TYPE

POURED CONCRETE REQUIRED AT EACH
SIDE FOR A5.D. DESIGN PRESSURE

SCALE - N T 5.

/

7507

et 5 "]
7507

1 1/2%1 1./2%1/8%0™--3"
UMINUM ANGLE W/ (1) 3/8%
K BOLT TZ W/2° Min.

@ ;EMBEDMENT AT EACH SIDE.

0.500 "~

-2.506"

1/2"
(TYF)

\—EDGE

OF

WALL

SCALE :

L (2) 1/47% X 3/4" IEK SCREW

AT EACH SIDE.

SECTION S2 -~ S2

/4" = 1"

A

\ﬁ’-,lNTO ANCHOR
=

YT~ ANCHOR

“MACHINE SCREW
FULLY EMBEDDED

i

SCALE -

/2" = 17

X 1/4W—20 OR 3/8W—16 MACHINE SCREWS USED JOINTLY W/
1/47ex7/8" OR 3/8"¢x1 /4 CALK—IN ANCHORS
RESPECTVELY SHALL BE LEFT TOGETHER W/ ANCHORS AT THE
TIME STORM BARS ARE REMOVED. (SEE DET. A).

X 7 1 1/2%1 1/2%1/3" -
POURED CONGRETE WITH 4" 1%2%1,/8" Cont. Atum. ANGLE W/ L e x] Y47 TAPCON ANGHORS 34 34" x Storu BaR pEP TR ?ﬁfﬁ;ﬁgﬂj\c’gﬂ, i?\r%%oﬁr
MIN. THICKNESS mumo 17410 X1 374" TAPCON ANCHORS R Alum. ANGLE EA SIDE _ CENTER OF ANGLE EACH SIDE FOR
O > 7 o e e o ks
A z :
o  d & 7 FOR MAX. STORM BAR HEIGHT 4'-2"
- ~ Y o = P & USE (1} 35/8% KWK BOLT 12 W/
! /7 \ I N 2% MIN. EMBEDMENT AT CENTER OF
I_TI_I 3% ! ' POURED CONCRETE WITH _4” / Y b A ay ANGLE EACH SIDE FOR GREATER
i i MIN. THICKNESS REQUIRED f \ i 3% & AS.D. DESIGN PRESSURE RATING.
It Q% N b (F'C=3000 F.5.1 MIN.) .f ! i d X | FOR INSTALLATION INTO HEADERS
N N i X / [ I D —- USE (2) 1/4°% x 3/4" TEK SCREW
i T 11 ,/ \ ! 7 N / ; N ~ EACH SIDE.
| s - ]
] S f 5 - ‘, ! - y T ~—(2) 1/4"8 x 3/4" TEK SCREW
f { : ! } _7 j | 4/ L@OR @ AT EACH SIDE.
/
I I i 7 i & I
I i s N / I A e v -4 || | SR g S-S§ FIXED STORM
il 1 H ~. - [_ __| o - . g
i ! t - I b \_ oemona SCALE : 1/2" = 1
I I
i P WL ! 8
- - - T N ]
i 1.000 — 1 i S~
i I t orTIoNL 1 1/2%1 1/2%1/8" FOR INSTALLATION INTO CONCRETE,
I [ { /4" 3/%" x STORM BAR DEPTH USE (1) 1/470X7/8" CALK—IN *
1] I | . or Ao, ANGLE EA. SIDE ANCHOR AT CENTER OF ANGLE EACH
i [ | 1.000 s SIDE FOR ANY CONDITION UNDER 80
il i | : | psf A5.D. DESIGN PRESSURE RATING
i i I o o @ OR @ Y / & (1) 3/870XT 1/4” CALK—IN *
t ] 1 o 2 - ANCHOR AT CENTER OF ANGLE EACH
EXISTING il ! i : 52 ™ P SIDE FOR GREATER AS5.D. DESIGN
s il | ! 5 1 5 i or @ 7 PRESSURE RATING.
- i i H ) ,‘:j @) FOR INSTALLATIONS INTO HEADERS
- il \ | i EXISTING =] | X USFE (2) 1/4"0 X 3/47 TEK SCREW
5 E E { GLASS g R o EACH SIDE.
= i AR AN o= (H) N N
5 I | | (B | or\0 )7 .
W i } e : (2) 1/4"$-20 5.5 MS.
&1 », s
a 1 [ dfh i | SEPARATION TO GLASS W/7/8x3/ 32" WING NUT
3 1 I I j I |« SEE _SCHEDULE ON oR
W I i | | 1 SHEET 10 OF 13 .
o :‘ SEPARATION TO GLASS | t i “ Q ®
a SEE SCHEPULE ON -
g i i s e O OIO ) - /\l SECTION S — S (FOR REMOVABLE STORM BAR)
" i : * ' @ 0R® SCALE : 1/2° = 1
i i I i '
7 i ; ! !7@ ® (BEYOND)
e ——1.000™——]
@ @ oR @ {Min.) Q@ oR @ 1.000”, 1.000 1.0007, 1.000
| — .
1 | I 1 |
H I 1 i 1 (BEYOND) f LRED CONCRETE
i [ i i OR GONCRETE BLOCK
It } { ! : REQUIRED
I
I 1 LA
il 1 | | I o e OR OR e ¥ \_ EDGE OF
S i . il
i : —-_____} | § 24 (MAX Jx 1/ 4x0"~4 1/2% o (2)1/4°8 x 3/4" TEK SCREW
It ] { i E | Alum. ANGLE W (2) 3/8" ¢ i CH SIDE (Typ.).
" H H | TH i OR KWIK BOLT TZ ANCHORS W/ 2" '
1 4 HA™ T ] } Min. EMBEDMENT TO POURED Ui 447
th—1.000"—; dA 1 | L CONCRETE REQUIRED AT EACH _
: win) ! ' ! BOTION SLAT  PRESSURE RATNG GREATER THAN
i T i yH i1 POURED CONGRETE WITH_4” 8o pat /‘*1(213,5:/ o R '
t s | s s | s MiN. THICKNESS REGUIRED ! EMBEDMENT INTO CONCRETE
IE T {(FC=3000 P.S.L MIN.) : BLOCK WALL AT EACH SIDE FOR @OR
gy ‘________ | AS.D. DESIGN FRESSURE RATING
I | °.° BOTTOM SIAT 21 40" 4 /2" M, S ! e 3TN S o o
r—"—| g ANGLE W/ (2) 3/8" ¢ KWIK BOLT 72 & } B AT ACH S
L ANCHORS W/ 2% Min. EMBEDMENT YO i SECTION 51 - &1
[
|
H

POURED CONCRETE WITH 4"]

MIN. THICKNESS REQUIRED
(FC=3000 F.5.1 MIN.)

FOR 1/47¢ TAPCON ANCHORS
OR 1/4"8 CALK—IN ANCHORS

3/80 KWK BOLT TZ—

3/8"8 CALK—IN ANCHORS—]

CEILING & FLOOR MOUNTING: SECTION V-V(2) INSTALLATION W/ WALL MOUNTING: SECTION V-V(1) INSTALLATION W/ FIXED

FIXED OR REMOVABLE STORM BARS W/CONCRETE ANCHORS

{ SEE SECTION °“S” FOR ANCHOR TYPE REQUIREMENT)
NT.5.

SINGLE SPAN SECTIONS AND DETARLS

ARE SIMILAR TO ABOVE SHOWN WITHOUT

STORM BAR & HEADERS.

SECTION V —

RATING GREATER THAN 80 p.s.f. & (2} ]
3/8°%9 POWER BOLTS W/ 1 1/4” MiN.
EMBEDMENT INTO CONCRETE BLOCK %
WALL AT FACH SIDE FOR A.5.D. DESIGN 1}
PRESSURE RATING UP TO 80 F.5.F.

AND (2) 1/4% x 3/4" TEK SCREW 70
STORM BARS AT EACH SIDE.

POURED CONCRETE
OR CONCRETE BLOCK
REQUIRED

~£0-

STORM BARS W/CONCRETE ANCHORS

|4

NT.S.

FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)

©2015 TILTECO, INC.

/ NLIECO me. \

. AL
(.ms)a;':ﬁrssa Fox : (305)371 1531

EB—0006719
WALTER A. TILLIT dJr. P.E.
FLORIDA Lic. § 44167

TILL!T TESTING & ENG!NEERING COMFPANY

II168

ROLL—UP SHU]?ER/PWND BORNE DEBRI REGION FRL
RLL—4, RLL—-3, A—200—H, A—150-H SLATS DRAWN BY:
ROLLAC SHUTTERS OF TEXAS, INC.| %%/
5331 ORANGE SIREET
PEARLAND, TX. 77581 15-059
PHONE: (800) 880—0922, FAX: (281) 485—083%
REV. No DESCRIPTION DATE RV, Ho DESCRIPTION DATE DRAWING HNo
L O 11-238 | 04/02/15 3

2

&

SHEET 5 OF 13




POURED CONCRETE WITH 4~
(FC=3000 P.5.1 MIN.)

MIN. THICKNESS REQUIRED‘I

1"%2%1/8" Cont. Alum. ANGLE W/
1/4 6 x 1 3/4" TAPCON ANCHORS
1270 ¢

MAXIMUM STORM BAR HEIGHT FOR THIS INSTALLATION TYPE,

SEE SCHEDULE ON SHEET 11 OF 13

S g
“
JES |
=§ A= amat I
o T
TS ~ !
i v | . A POURED CONCRETE WITH 4"
I | il 5 \ MIN. THICKNESS REQUIRED Mm
l I i 7y 1 (FC=3000 P.S, wv) '
I ’ [ i ’ Y i -
H T e I; y
I | i 7 g
i i 1 s '
o i 1 - i
H] { 1 e :
" { if 4 —--—e—e——9 ol
i o al§
It P [ I . S AN v
[f—7.000 ——-I { =4 3
y e il OPTIONAL i
I d
1l i | :
H ! ! - 1.000" I
! | il i) |
: Lo OriG |
EXISTING [} i Hin !
GLASS It i i s ‘iz :
[} | i ;
] 1 i J |
fl | il EXISTING —mr] I
i | GLASS 1
! |
! [
! |
! |
I I
|
|

b semaramion 7O 61455 1

SEE SCHEDULE ON
SHEET 10 OF 13

OO O=©

®

1%2°%1/8" Cont. Alum. ANGLE W/
\1/4 # x 1 3/4 TAPCON ANCHORS

SEFARATION TO GLASS
(e SEE SCHEDULE ON
SHEET 10 OF 14
1
I

POURED CONCRETE WITH j

MIN. THICKNESS REQUIRED
(FC=3000 P.5.[ MiN.)

OR 1/4"¢ CALK—~IN ANCHORS
FOR 3/8°% CALK~IN ANCHORS —mssrmaremd 5007 #fin:

et 000™
N @@=®
| | 1 I
i i | | (BEYOND) {
i | 1 52
I | i !
] | ]
gl T @® ©=0
] 1 | i OR
I § ] i
i i 1 |
I
{ i 1
N -0
) .
00—
e dn
1
r . f i = i POURED CONCRETE with 47 5P
i f i i MIN. THICKNESS REQUIRED .
S 1 S5) o S (FC=3000 F.5.I. MIN) -~
ok T
860 O O Q| gomom siar
o
G
FOR 1/478 TAPCON ANCHORS ~mums 3.000" Min:

POURED CONGRETE

1

EACH SIDE.

1 1/2%1 1/2%1,/8% L, 5] 1 1/2%1 1/2°%1/8 %0 4" .
34" 34 STORM BAR DEPTH 7507, 7507 ALUMINUM ANGLE W/ (1) 3/8%
i/ Aum. ANGLE EA. FOR INSTALLATION INTO CONCRETE, KWK BOLT TZ W/ 2" Min,
SIDE USE (2) 1/4"8 TAPCON ANCHORS EMBEDMENT AT EACH SIDE.
EACH SIDE FOR ANY CONDITION
UNDER 65 p.s.f. AS.D. DESIGN
12 A PRESSURE' RATING & USE (2) |
n 3_@. 3/8% KWIK BOLT TZ W/ 2" MIN. T s
: Y EMBEDMENT EACH SIDE FOR 12 /3
e GREATER A.S.D. DESIGN PRESSURE (;D O I
A (NP RATING. RS
: FOR INSTALLATION INTO HEADERS
I 3 —E3- USE (3) 1/4° x3/4" TEK SCREW . /@ OR®
i EACH SIDE. 1/2
(3) 1/478 x 3/4" TEK
L@ . ® SCREW AT EACH SIDE. / / e

R_FIX RM

SCALE : NT.5.

1 1/2%1 1/2%1/8"%
STORM BAR DEPTH

\—— LDGE OF

WALL T EACH SIDE.
SECTION 52 — 52
SCALE © N.T.S.

SCALE : 1/2" = 1"
*1/4" 020 OR 3/8" #—16 MACHINE

A SCREWS USED JOINTLY W/ 1/4" ¢ x 7/8"
OR 3/8" # x 1 1,/4" CALK—IN ANCHORS
RESPECTIVELY SHALL BE LEFT TOGETHER
W,/ ANCHORS AT THE TIME STORM BARS

ARE REMOVED. (SEE DET. A)

3 A3 A, ANGLE A SIDE _FOR INSTALLATION INTO CONCRETE,
USE (2) 1/4"8x7/8" CALK—IN*
/ ANCHORS FACH SIDE FOR ANY
CONDITION UNDER 65 psf A.S.D.
:)z' (/ DESIGN PRESSURE RATING & (2)
el 3/8"0x1 1/47 CALK—IN* ANCHORS
3 N ~ EACH SIDE FOR GREATER A.5.0.
A N DESIGN PRESSURE RATING.
o L FOR INSTALLATION INTQ HEADERS
2 A USE (3) 1/47¢ x 374" TEK SCREW
EACH SIDE.
. I
1 '2 N
\—-(2) 3/8°8 S.5. THRU BOLTS W/ NUT
o ©)
SECT S — R MOVAB, STOR,
SCALE : NT.S.
1.000", 1.000" 1.000°, 1.000°

ALUM. ANGLE
AT EACH SIDE

131 , J - |
3 1
2SS l ’\®o’? @

\— EDGE OF

waLL
;: Lz By
L& i (1) 1/48 x 3/4" TEK
SCREW EACH SIDE (Typ.)
fist 41::1:{
SECTION S1

SCALE : N. T. S,

N_2%51/4% 06" Alum. ANGLE EACH
SIDE W/ (2} 3/8"® POWER BOLT
ANCHORS W/ 1 1/47 Min. EMBEDMENT
INTO CONCRETE BLOCK WALL FOR AS.0.
DESIGN PRESSURE RATING UF TO BO p.s.f.
AND (2) 3/8°¢ KWIK BOLT TZ ANCHORS
W/ 2" Min. EMBEDMENT INTC POURED
CONCRETE REQ'D. FOR GREATER AS.D.
DESIGN PRESSURE RATING, AND (4} 1/478
x 3/4" TEK SCREW TO STORM BARS AT

POURED CONCRETE
OR CONCRETE BLOCK

s REQUIRED

3) 1/4°0 x 34" TEK SCREW

MACHINE SCREW
4 | FULLY EMBEDDED
=ZINTO ANCHOR

T ANCHOR

FLORIDA BUILDING CODE (Non High Velacity Hurricane Zone)

OR CONCRETE BLOCK

s
3 5/8"

3/8" KWIK BOLT TZ-

CEILING & FLOOR MOUNTING: SECTION V-V(2) INSTALLATION W/

REQUIRED

Q2015 TILTECO, INC.

FIXED OR REMOVABLE STORM BARS W/CONCRETE ANCHORS

FIXED STOR

/ TiLIECO wme \

ANCHORS

( SEE SECTION "S™ FOR ANCHOR TYPE REQUAREMENT)

SCALE : N.T.S.

TILLIT TESTING & ENGINEERING COMPANY

6355 N.W. J6th, St, Sfe. 3t

SCALE © N.IS.
SINGLE SPAN SECTIONS AND DETALS

SECTION V — V

ARE SIMHAR TO ABOVE SHOWN WITHOUT
STORM BAR & HEADERS.

FB—-0006719
WALTER A. TILLIT Jr. P.E.
FLORIDA Lic. # 44167

Phone * (.305)871—1530 Fax (305)87I 1.531

ROLL-~UP S'HU?TER/WJ'ND BORNE DEBRI REGION F.R.L.
RiL—4, RU -3, A—200-H, A—150--H SLATS DRAWN &Y:
ROLLAC SHUTTERS OF TEXAS, INC. 04,;2%15
5331 ORANGE STREET
PEARLAND, TX. 77581 15-059
PHONE: (800) 880-0912, FAX: (281) 485-0839
- e SHEET 6 OF 13




2%3(Max Jx1,/8™ CONT. ALUM.
TUBE W/ 1/48 x 1 3/4"
TAPCON ANCHORS @ 12° O.C.

W/ 1/4% x 3/4" TEK SCREW

1%2"%1,/8" Cont. Alum. ANGLE
Ko 12" 6.C. TO TUBE

EXISTING GLASS.

FULL LENGTH TO POURED
CONCRETE
T
&
s
3.000"
POLRED
CONCRETE Min. ‘ ]
REGUIRED
L l |
1.000" Min. l |
.
]

BUILD-0UT TUBE

-

]

I

1.000 Min.

(BEYOND) i
¥ O GO
o :53 | 53 ® or @
//4500” ° ° e °
i petlleel O

POURED co.vvcamr__/

{4 MIN. THICK) OR
CONCRETE BLOCK
REQUIRED

CASE |

STORM BAR CONNECTION AT BUILD-QUT INSTALLATION : SECTIONS V- V(3)

2%7 " (Max. Jx1/4" Cont. ALUMINUM
ANGLE W/ 1/4°P TAPCON ANCHORS @
127 0. C. W/ CONCENTRATION OF (5)
3/8"¢ POWERS BOLTS W/ 1 1/47 MIN.
EMBEDMENT @4° 0.C. AT STORM BAR
LOCATION TO CONCRETE BLOCK AND (4)
KWIK BOLT T2 W/ 27 MIN, EMBEDMENT
Q4" O.C. @ STORM BAR LOCATION TO
POURED CONCRETE {SEE ELEVATION X).

Do ®

?l©w@
WO«

I Esclelo
®OR®

:LJ1¥OMD
| T OO

24" (Min Jx 1/87 Cont. Alurm,
TUBE W/ 1/47¢ x 1 3/4"
TAPCON ANCHORS @ 127 0.C.
FULL LENGTH TO POURED
CONCRETE

1" x 27 x 125" Cont. Alum. ANGLE W/

/1748 x 374" TEK SCREW & 12~ 0.

|
TN S !
REQUIRED | I
7
s N
L] |
|
3
1.002" [ |
Min.
g=e N
ISJ
i
]

SEPARATION TO GLASS

SEE SCHEDULE ON
SHEET 10 OF 13

l | MIN. EMBEDEMENT. CONCRETE (ONLY)
Iy, mOIGIOM T o . i
® o © IR e e e nyan 1|
s o s Y | o] | oo | oo | o | soor | [ see
el |l T OO0@ e
J \; I}
N il ) ®©@ ELEVATION/)A
o 1811 1 ® =G
LA | (— GG
/s " | o © 0O o O o
4.500 il 3 =Y M
T ey
— r [ 23" (Min.)x1/4" Cont. ALUMINUM ANGLE
4] ﬂn+ }—[3 o W/ CONCENTRATION OF (#)1,/4°# x 1 1/2°

POURED CONCRETE (4~
THICK) OR CONCRETE
BLOCK REQ'D. FOR UP TO
130 psf LOAD AND POURED
CONCRETE REQD. FOR

)

750"

| 2%6"(Max.)x1,/4" Cont. ALUMINUM TUBE
W/ 1/4°8 TAPCON ANCHORS @ 12" 0.
C. W/ CONCENTRATION OF (5) 3/8"¢
POWERS BOLTS W/ 1 1/4" MIN.

%:@m®
() ®© * @

C. TO TUBE

1 1/2%1 1/2%1/8%
STORM BAR DEPTH
Alura. ANGLE EA. SIDE

FOR INSTALLATIONS INTO TUSE &
HEADERS USE (2) 1/4'¢ x 3/4"
TEK SCREW FA SIDE FOR STORM

750" 750"
L
Tp- | |
T’ o ]
A IH :
[ SEp )
T e
E-r’- 172" LUEIN S 2 - O
Tp.

] mCGIGIGLIG)

BARS (&) @4& (3} 1/4% x 374"
TEK SC‘REW SIDE FOR STORM
BARS (E)

2) 1/4°% x 3/4" TEK SCREW EA.
_éuf FOR STORM BARS G (&) H (&)
(3) 1/4% x /4" TEK SCREW EA
SIDE 'FOR STORM BARS

SECTION S3 - 83

SCALE : 1/2" =

" x 7% Mox. x .250" Coni.

(4) 3/8° KWIK BOLT TZ @ 4
0.C. TO POURED CONCRETE W/

2" MIN. EMBEDMENT & (5)
3/8"9 POWER BOLTS @ 4° 0.C.
0 CONCRETE BLOCK %/ 1 1/4"]

1
=

- OO0

1 1/2%x 1 1/2" x .125 x STORM BAR

735% ALUM. ANGLE W/ (2) 1/478 x 3/4"
TEK SCREW FA KWK BOLT TZ @ POURED
CONCRETE SIDE £A. LEC FOR DESIGN LOADS

UP TO 80.G psf & (3) 1740 x 3/4° TEK

SCREW EA SIDE FA LEG FOR GREATER
DESIGN LOADS.

CASES 1 & i (4) ANCHOR
TAYOUT FOR POURED

TEK SCREW @ 1 172" Q.C. AT STORM BAR
LOCATION, REST @ 12" O.C.

GREATER LOADS,

EMBEDMENT @ 4~ 0.C. AT STORM BAR
LOCATION TO CONCRETE BLOCK AND (4)
KWiK BOLT TZ W/ 27 MIN. EMBEDMENT

o4”
POURED CONCRETE (SEE ELEVATION X).

CASE I

0.C. @ STORM BAR LOCATION TO

FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)

@2015 TILTECO, INC.

/ TLIECO me. \

SCALE -

TILLIT TESTING &' E'NGINEERING COMPANY
8355 N.W. J5Hh.

VIRGINIA GARDENS, Fl.
Phone ; {J05, 7r 1530 Fox : (305)871-1531
EB-0006719
WALTER A TILLIT Jr. P.E.
FLORIDA Lic. # 44167

IF165

ROLL—UP SHUTTER/WIND BORNE DEBRI REGION FR.L.
RiL—4, RLL—3, A—200-H, A—-150-H SLATS DRAWN BY:
ROLLAC SHUTTERS OF TEXAS, INC. °"ﬁfé"5
5331 ORANGE STREET
PEARLAND, TX. 77581 15..._,,059
PHONE: (800) 880—0922, FAX: (2B1) 485-0839
REY. Mo DESCRIFTION e | REV. Mo DESCRPTION BATE DRAWING No
L A e A SHEET 7 OF 13




REQUIRED

MAXIMUM MULLION SPAN FOR THIS INSTALLATION TYRE

POURED CGONCRETE (4° MIN. THICK}

1 1/2%1 1/2%1/8%
MULLION DEPTH

(EACH SIDE} W/ (2) 3/8" 87
KWK BOLT TZ W/ 27 MiN.
EMBEDMENT TO SLAB.
(Typ. TOP & BOTTOM)

OlOIOL O

1% x 2% x 125" Cont.

Alum. ANGLE

ALUMINUM ANGLE W/ TAPCON
ANCHORS & 6% 0. €,

34"

FLOOR/CEILING MOUNTIN :
SECTION W-W (1), W/O HEADER

SECTION W-W (2), W/HEADER
SCALE : 1/8" = 17

!\, _

1°%2"%1,/8" Cont. ALUMINUM
ANGLE ‘W/TAPCON ANCHORS
® 12" 0 G

I W3/ 8 w0 ~2" (6061—T56 ALLOY)
Alum. ANGLE W/(4) 1/4"9 x 1 1797

POURED CONCRETE
REQUIRED (4~ MIN. THICK)

2.5

or

(EXTENDED PASSED OPENING)

2%4%1/4"%0"~4" Alum. ANGLES TOP
AND ROTTTOM W/ (4)
BOLT TO HEADER & (2) 3/8% KWIK

1/478 5.5, THRU

@OR@ (ONLY FOR W-W{2))

~®

MIN. EMBEDMENT TO W

TEK SCREW T0 HEADER & 1/2°9
KwiK BOLT TZ ANCHOR W/J /4"

BOLT T2 W/ 27 MIN. EMBEDMENT. USE
2%7%1/47 Alum. ANGLES FOR CASES

BULD--0OUT TUBE.

) 1/4°% x 1 1/4” TEK SCREW FOR (i),
. ﬂ_@moqsa) /4% x 1 1/2" TEK

Mol
o (7)

i~ (2} 3/8" & THRU BOLTS FOR UP T
150 DESIGN LOAD & (3) 3/8" &
THRU BOLTS FOR GREATER L

(Tip. TOP & BOTTOM)

@or ()

3 IRI NI/ B RO -2" (6061—16 ALLOY) Alum. ANGLE ALTERNATIVE 1
o FoR SINGLE & gy@qgga@vi w(/ﬁ% . 7@36:{%9 WALL MOUNTING : SECTION W-W(3)
GLASS. X, X0 -~ ] s—— - -
EXiSTNG Alurn. ANGLE FOR SINGLE & MULTIPLE SPANS FOR LE ;178" =1
W/ (1) 1/2% 5.5. THRU BOLT TO MULLION THRU
SIDE RAIL AT SINGLE SPANS & (2) 1/29 5.5 THRU 2%4"(MAX)x1/8" ALUM. TUSE W/ 2x2°x1/8"
BOLYS AT MULTIPLE SPANS. FALUM. ANGLE TO SIDE RAIL W/ (3) 1/4"8 x 3/4~
TEK SCREW EA. L6
%21 /8" Cont. ALUMINUM ANGLE
[1”/”’ 1EK SCREW @ 12" 0. C.
a4 OR R/4 0/4 OR R/4 /

POURED CONCRETE-
REQUIRED (5™ MiN. mfcx)\

1 1/2¢
POURED CONCRETE
REDUARED (4" MIN. THICK)

o

00

l\

OLG)

I3 %3/ B%0'~2" (6061~T6 ALLOY)

Alum. ANGLE W/(6) 1/4°8 x 1 1/4"

TEK SCREW TO HEADER & 1/2'0
KWIK BOLT T2 ANCHOR W/ 3 1/4°
MiN. EMBEDMENY TG WALL

ALTERNATIVE 2
WALL MOUNTING : SECTION W-W{(3)
SCALE : 1/8" = 17

NOTE:

A5.D. DESIGN PRESSURE RATING.

INSTALLATION DETAILS SHOWN ON ALTERNATIVES 1 & 2 ARE VALID FOR
ANY STORM BAR HEIGHT AND HEADER SPAN CONDITION UNDER 175 psf.

Wes

. ALTERNATIVE 3

WALL MOUNTING : SECTION W-W(3)

SCALE : 178" = 17

NOTE:

VALID FOR ANY SPAN AND LOAD CONDITION

O @B

F7 x T ALUMINUM ANGLE ="

®&—

=

ELEVATION

SCALE : 1/8" = 17

TYPICAL HEADER CONNECTION AT ENDS:

SECTIONS W-W

2%2 %1/ 4%0"~6" Alurn.

ANGLE EA. SIDE W/

3/8¢ KWK BOLT TZ
W/ 27 Min. EMBEDMENT
TO WALL & (2) 3/8%
$.5. THRU BOLTS TO

MULLION,

POURED CONCRETE
RECQUIRED (47 MIN. THICK)

e

2.500" =

(2)

ELEVATION /@

(@ (5)

L 18" = 17

2% MULLION'S DEPTH x1/8” Cont. ALUMINUM
TUBE W/ 2%Z"x1/8%0°—2" ALUMINUM ANGLE
TO MULLION W/ (3} 1/478 x 3/4" TEK SCREW.
EA. LEG. (TP TOP/80TTOM)

1%2%1/8" Cont. ALUMINUM ANGLE
W/ 1/47% x 3/4" TEK SCREW @

12" 0.6,
_—
f/ \\
4 K
! Ty \l
| \_s }
\ ; .
\ /
. /
-‘--_,_/’
444444 T
]
I
______ o]

NO HEADER & STORM BAR ALLOWED.
SPUT ROLL UP MULLIONS &

TRAGKS W/ FACE MOUNT.

\oE@E=D

WALL MOUNTING : MULLION CONNECTION

OGO

\/- %1% 1,/8«CONT. ALUM ANGLE

4.006™

W/ 1747 x1/27 TEK SCREW © 2" ocC
V2%2% /4" %0’ —6" Alum. ANGLE EA. SIDE W/ (2}
1/8"¢ POWER BOLT ANCHORS W/ 1 1/47 Min.
EMBEDMENT INTC CONCRETE BLOCK WALL FOR
AS.D. DESIGN PRESSURE RATING UP TO 80 psf
AND 9°—0" Max. MULLION HEIGHT & FOR GREATER
AS.D. DESIGN PRESSURE RATING USE (2) 3/8%
KWIK BOLT 1Z W/ 2" Min. EMBEDMENT ONLY INTO
POURED CONCRETE (47 MIN. THICK} & (2) 3/878

THRU BOLTS THRU MULLION AND ANGLES W/ NO

MUELION HEIGHT LIMITATION.

;i========}r{==‘ o ATTOP & BOTTOM : SECTION W-W (1)
R Dl e SCULE : 1/8" = 1
@ @OR p 1 1Mo § ol FLORIDA BUILDING CODE (Non High Velacity Hurricane Zone)
g P o A 02015 TILTECO, INC. ROLL—UP SHUTTER/WIND BORNE DEBRI REGION|  few
6@%0" M» I RiL—4, RLL—3, A—200—H, A—150—H SLATS DRANN BY:
oR HET 11
T | -I_I__-— ROLLAC SHUTTERS OF TEXAS, INC. 04{;%15
% i ILIECO e s g s

©=0 ELEVA TION& o5 o oo N S 3 ARG ARENGS B, 43166 PHONE: (800) 880-0922, FAX: (281) 4850839 15-059

Fioe - (sas)srégfxggo For gl Tl SIS B —  DRAMING No
e - WA hpe e e T




1/4%8 LAG SCREWS OR WOOD
SCREWS @ EA. STUD OR @ 12" O.C.
iF Cont. WOOD HEADER EXISTING AT

THIS LOCATION.

=~ 1.000”

E

o
, O\/
N

WOOD HEADER REQUIRED

Y
..‘-‘.l ég

7

EXISTING GLASS

1" x 2" x .0627 Cont.
Alum. ANGLE

1/4"¢ LAG SCREWS
OR WOOD SCREWS
& Eg. STUD

WooD STUD
@ 247 0. C. MAX
REQUIRED

WALL MOUNTING INSTALIATION
SINGLE SPAN CONDITION

N T. S

1" x 2° x 1/8" Cont.
/ Alum. ANGLE

—®

2" x 4" WOOD STUDS
REQUIRED @ CORNER

(TYPICAL)
— A e
S 200" —* —— | / e
=\ B |
: ;
T Ta NG P LT p e T N /'1 RO

EXISTING WOQD STUD.

1/4”

oo Q@@
Merx.
OR
22 ®
PLAN A (SEQTIONZ
WALL MOUNT
SCALE : 3/8" = 1"
2" x 4" WOOD STUDS REQUIRED
@ CORNER (TYPICAL) '
- 1/4°8 LAG SCREWS OR WOOD
SCREWS @ 4" 0. C. W/ 1 1/2" Min.
"] THREADED PENETRATION TO EXISTING
/ P WooD STUD.
- 1/4% x 3/4 TEK SCREW @ 6" 0. C.
] b 2% x 2" x 125" Cont. ALUMINUM
— i |4 /T aNGLE
T i A WE©
5% = N o (0)
— S £ T ] /‘
T A l{n&% +
5B 57 o
1/4”
— s MAX ®

@
OLIO

PLAN B (SECTION)
INSIDE MOUNT

SCALE : 3/8" = 1”

NOTES:

Max.

%4 B x 3/4

1/4" LAG SCREWS OR WOOD
SCREWS @ 6” 0. C. W/
Min. THREADED PENETRATION TO

1 1/2

.

2.060" M

—

K SCREW @ 6" 0. C.

BIBIC
® o= (9

PIAN C (SECTION)

o
/

2" x 4" STUDS /

2" x 47 WooD STUDS
REQUIRED @ CORNER

(TYPICAL)

1/4% LAG SCREWS OR WOOD
SCREWS @ 67 0. C. W/ 1 1/27
Min. THREADED PENETRATION TO
EXISTING WOOD STUD.

1. INSTALLATIONS ARE ONLY VALID FOR BUILDINGS WITH A.5.D. DESIGN PRESSURE
RATING UP TO 80 p.s.f.

2. FOR NEW FRAME CONSTRUCTION: WOOD MEMBER 1O BE SOUTHERN PINE No. 2
W/ SPECIFIC DENSITY OF 0.55 OR DOUGLAS FIR W/ SPECIFIC DENSITY OF 0.42.

3. MINIMUM PENETRATION OF {AG SCREWS OR WOOD SCREWS INTO WOOD MEMBER
TO BE 1 1/2"

©2015 TILTECO, INC.

/ TiLTEC o e,

TILLIT TESTING & ENGINEERING COMFPANY
6355 N.W. 36i, St, Ste,
Phonw : (305)871—1

305,
530 .
EB—0006719

WALTER A TLLIT Jr, P.E

FLORIDA Lic. # 44167

VIRGING: GARDENS,
Fax : (3058711531

BUILD=0UT
SCALE : 3/8" = 1"
FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)
ROLL~UP SHUTTER/WIND BORNE DEBRI REGION FRL
Ril—4, RILL-3, A-200—-H, A—150-H SLATS DRAWN BY:
ROLLAC SHUTTERS OF TEXAS, INC.| °/%/
5331 ORANGE STREET
PEARLAND, TX, 77581 15-059
1. 33166 PHONE: (800) 830-0922, FAX: (281} 485-0839
FEV. o DESCRATION DATE | REV. Mo DESCRFTION DATE DRAWING No
' OLD 11-238 | 04/02/15 3

F4

4

SHEET 9 0OF 13




SIAT PERFORMANCE CHART

MAXIMUM A.S.D. DESIGN PRESSURE RATING (p. s. f.
AND CORRESPONDING MAXIMU T SP L
(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD)
TYPE 1 SLAT TYPE 2 SLAT TYPE 3 SIAT TYPE 4 SLAT
RLL—4 SLAT RIL-3 SLAT A—200-H SLAT A~150-H SLAT =
MAXIMUM & osamuns | minont § seaenons | s | sasiosun | svisaont § seaxiung | MiNduM
AS.D. SLAT  |SEPARATION] StaT  |SEPARATIONY StAaT  |SEPARATIOM} SLAT  ISEPARATION
pesiN | SeaN- 1 TO GLASS | seaN | TO GLASS | spaw JTO GLASS | SPaN | TO GLASS
PRESSUR : ’
ratvg | sivcie | siNote | SINGLE | SINGLE | SINGLE | SINGLE | SINGLE | SINGLE
(.5.F.) & & & & & & & &
suLtiete | mucnipte | mMuLmipLe | muitipLe | muLTiPLE | MULTIPLE | MULTIPLE | MULTIPLE
UNIT UNIT UMIT UNIT UNIT UNIT UNIT UNIT
25.0 7—g" " 5—11" A &'-0" 7" —5" "
30.0 7—4" 1" 58" rh 5-g* 7" 3" 1”
J5.0 7-1" 1" 5-5" 1 5—4* i —1 1’
46.0 —10° " 53" i 50" 7" —g" thd
45.0 6-7" 1° 5-1* ™ 4'-8" 1" 310" 1"
50.0 6-5" 1° 411" i 4’5" 7" 3-8" 1”
55.0 63" P 1'-9° i 43" 1" 37" 1"
60.0 61" 1" 4-8" " 1" 4—-1" e —6" r”
65.0 5-11" ” -7 1™ I-11" 1" 34" T
70.0. 5-10" ” 45" 1 39" 1" 33" 1"
75.0 5-g* " 44" e 38" 1" 31 1"
80.0 5-7" i 4°-3" " 36" i 30" "
85.0 56" 1" 4—1" " 5" " 211" 1°
90.0 5-5" " 40" " 34" 1 2'-10" A
95.0 54" " i 5 1" 33" 1" 2-9* rd
100.0 5-37 1" F-10" i 32" 1" 28" el
105.0 52" 1” 3-a" 1 31 1 - -
fi0.0 51" 1” 37" 17 3'-g~ 1 - -
115.0 g " F'-6" 1” 2-11" 7™ - -
1200 | 4-10" i 3-8" 1” 2-11" 1 - -
125.0 —g” i F-5" i 2—10" 1 - -
130.0 4'-8" 1" J'-4" 7" 2'-g” 17 - -
135.0 -7 1" F-3" i 2-g" " - -
140.0 46" 1" 3-2* i —g” ™ - -
145.0 4-5" 7" 32" " 27" 1" - -
150.0 4'-q" " 3-1" A 27" 7" - -
155.0 -3 1" 31" i 2’-6" e - -
160.0. —3" " 30" T 2'-6" " - -
165.0 42" " 2'-11" - 2°-5" ” - -
170.0 1" " 2-11" 1" 2°-5" 7" - -
175.0 £-0” i 210" 1” 2-5" 1° - -
180.0 4'-0" 1" 2'-10" 7" 24" A - -
1850 § 3'-11 " 29" ™ 2'—4" " - -
1900 | 3-10 1” 2-9" ™ 3" 1" - -
1950 | 3-10 1" 2'-g" 1" -3 1 - -

nﬁLm_jm o
= = 5 = =]
DI*_L_—I
o
1

SINGLE SPAN

SPAN LAYOUT

MULTIPLE SPAN

— ¢ NOT APPLICABLE.

NOTE:  MINIMUM SEPARATION TO GLASS FOR SINGLE AND MULTIPLE UNITS
SHALL BE MEASURED FROM BACK OF SLAT TO GLASS.

* TYPE 4 SIAT SHALL BE ONLY INSTALLED ABOVE 30° ELEVATION OF
BUILDING MEASURED AT BOTIOM OF SHUTTER,

SIDE RAIL REQUIRED FOR A GIVEN TYPE OF SLAT

SLAT TYPE

REQ'D SIDE RAIl TO BE USED

@ (RLL—4)}

@(RLL—ZS) &

ONLY UP TQ 120 p.sf
@(RLL 7} : DESIGN LOAD.

ALL
RLL-40) & @(RLL—54 : DESIGN
®( ) ) LOADS.

(R’LL—J)

@(RLL—JZ)

@ {A—200—H)

@ (A—150—H)

FLORIDA BUILDING CODE {Non High Velocity Hurricane Zone)

©2015 TILTECO, INC.

/ TLIECO me. \

6355 N.W. 35th, St,
Fhane :
EB—-DO0E719
FLORIDA Lic. # 44167

TILLIT TESTING & ENGINEER!NG COMPANY
(305)571»1530 Fae : (305)87’1 1531

WALTER A TILLIT Jr. P.E

ROLL—UP SHU??ER/MND BORNE DEBRI REGION FRL
RLIL—4, RLI—3, A-200—H, A—150-H SLATS DRAWN BY:
ROLLAC SHUTTERS OF TEXAS, INC.| °+%/1®
5331 ORANGE STREET
PEARLAND, TX. 77581 15—-059
33166 PHONE: (800) 880-0922, FAX: (281) 4850839
REV, Mo DESCRIPTION . DATE V. No DESCRIFTION DATE DRAWING No
L E R L 4 L] S SHEET 10 OF 13

2

4




STORM BAR LOADING CHART MAXIMUM A.S.D. DESIGN PRESSURE RATING (p. s. f.) AND CORRESPONDING
MAXIMUM SPAN °L” FOR A GIVEN TYPE OF STORM BAR AND STORM BAR SFPACING.

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD)

%%UM TYPFT'J'STORMEAR TYPE 2 STORM BAR TYPE 3 STORM BAR TYPE 4 STORM BAR
DESIGN 2% x 47 x 1/47 2" x 4" x 1/87 2" x 3" x 1/8° RLL—I5 + RLL—16
PRESSURE

RATING ¥ STORM BAR SPACING ¥ STORM BAR SPACING ¥ SIORM BAR SPACING *  STORM BAR SPACING

(st ci7-0" 13104 |05 ismwe |g3-0c | o+l sros|sws | <30 || 405|5T06 [ $I-0"] FT04| 4105|5706

H0 0K 10'-0" w-0" | 10-0" 100 9-0" 90" 90" 811" g'-o" &—0" &8-0" 73" 56" 56" 5—2° 4"-8"
35.0 10—0” 10°-0" 10'-0" 10°-0 g—0" 9—0" g'-o0" &-3" g—0" 80" 7'—-5" &5'-9* 5—6" 54" 497 44"
40.0 10— 10-0” 10'-¢” 9'-11" 9—o" g9'-0" 8’5" 78" -0 7'-9° &-11" o 56" 50" 4'-57 =1
45.0 10—-0" 0-07 106—0" 9-g" 9°--g” 811" 8'-0” 74" a'-0" 7~3" 6-6" 511" 5°-5” 4'-8" 4'=-27 J—10"
50.0 10’-g” 10-0" | 9-10" -3 9'-0" 86" 77" &8 ~11" 8'-o" 611" &-2" 5-8" 5'-2" 4’5" 4'-0" 3-8"
55.0 10°-0" 10°-0" 9°-7" 8%-10" #'-0" -1 7-3" &-7" 77" 6-7° 511" 5'-5" 4'—11" 4'-3" 3-g” 3'-6"
60.0 10'-0" 9°—11" g-3" 8-5" g—11" 7'-g* &-11" 54~ 7'-3" &5'—4" 5'-8" 52" 48" 4'~q" 38" 3—4"
65.0 100" gy 8-11" 8-1" 87" 7'-5" &6—-8" &—1" 7=0" S 5'-57 4'-11" 46" 311" 367 3-2"
70.0 10°-07 9'-7" g=7" 7-10" 8'-3" 7'-2" 55" 5-10" | &-9" 5107 5-3" 4-9" 4—4" 39" 3—4" F-1"
75.0 10°-g" 9'=-3" &'-37 77" 8'—o" 6—11" &—2" g &'-6" 5-g8" 51" 47" 42" 3'-8" 33" 30"
80.0 911" a-11" a-o" 7'-4" 79" &—3* &'-0" 5'-g" 5q” 56" 4'—11" -6 -1 36" 32" 2'=10"
85.0 g9'—10" 8'-8" 7-g" 7-1" 76" &'~6" 510" 54 g—-1" 54" +-9" 4'—4" F-11" 357 3—1" 29"
0.0 98" 8'-5" 77 6—-11" 74" 6'—4" 5-8" 5-2 571" 5'-z2" 477" 472" 3107 O 30 28"
95.0 9'-8" a-3" 7'-4" &6-8" 7=1" 6'-2" 5—6" 5°—0 5-g” 5-0" 46" 4'—1” 3-g” 3-3" 2'—11" 2'-8"
100.0 8-3* 8'~0 72 &'-6" &—-11" 60" 5—-47 471" 5-87 4—17" 44" 4'—g" 38" F-2" 210" 27"
105.0 g9—0” 7'-10" 7= 5'-5" 6—9" 5'—10" 5.3 4’9 5'-8" 4'-9" 4-3" 11" 3-8" 3=1" 28”7 2'-g"
110.0 810" 78" 610" &'-3" 67" 5-g* 5—1" 4°-8" 5'-5" 48" 42" J-10" 36" 3-0” 2"-8" 2'-5"
115.0 &'-7" 7-6" 68" &-1" 66" 5-7" 5—0" 47 53" 4’7" 41" 3'-g" 3'-5~ 271" 27" 2'-5"
120.0 85" 7-4" &-6" &-07 5'—4" 5'-8" 4'—11" 4-6" 5-2" 45" 4'-0" F3-8" F-4" | 2-10" 27" 24"
125.0 8'-3" 720 &-5" 5'—710" 6—2* 5—4" 410" 4'-5 51" 44" 3-11" 37" 3-3" 2107 2’6" 2'q”
130.0 8'-1" 7'—0" 63" 5'-9~ -1 5-.3" 49" 44" £-11" 4'-3" 3-10" 3'-8" 32 2'-97 2'-6" 2'-3*
135.0 711" &6—-11" -2 58 6—07 5'-2" 4 =7 4'-3" 4~10" 4'-2" 3-9” 3-5" 3—1" 28" 2'-5" 22"
140.0 7107 68" §—1" 56" 510" 5-1" 4'—g" 4’2" 4'-g" 4~z 3-8 J'—4" F-1" 2’-8" 2-57 2-z°
145.0 787 6--8" 11" 5°-5" 5'—-9" 5'-07 4'-5" 4’1 4°-87 4—1 38" F—-q” 3-0 -7 2'—4" 2=z
150.0 7'=7" &-8" 5'-10 5—4" 5'-8" 4 —11” 4'-5" 40" 4'=-7" 4°-0" 3’; i J-3" 30" 2-77 2—4* 21"
156.0 7'-5" 65" 5'-3" 53" 57" 24°-10" 4'—4" F-11 48" 311" 36" 3-z" 2"-11 2’-8" 2'-3" z2-1"
160.0 74" 64" 5-8" 5'-2° 56" 4'—g” 4'-3" I-11 4°-8" 310" 3—5" 32" 2™-10 2~ 2'-3" 2'-g”
165.0 7'-2" &-3" 57" 517 55" 48" 4'-2" 310 45" 310" 35" s —10” 2'-5" 2'-2" 2'-g"
170.0 717 §-2* 5'-6" 5°-g” 5—4" 4=7" -1 3-g” 4'—4" 3-9” 3—4" 3-1" 2'-8 2°-5" 22" 2-g”
175.0 7-0" 61" 5'-5" 4'—11" 53" 4~ 4—1" 3'-8" 4-3" 3-8" J—4* 3-0* 2'-9 2'-5" 2-1" r-11"
180.0 6'—11~ &'—0" 5'—4° 4'—10” 5-2 4'-8" 4'-0" 3'-8" -2 38" 3-3" 2—1" =11
185.0 610" 511" 5'-3" 4’10 51" 45" 3—71" 37" 4’2" 3= 3-3" 21" 1'-11”
190.0 &-8" 5—18" 5-2" 4'-g" 5-p” 44" B o 37" 4'-17 3-7" F=-2” 20" 1'-10"
195.0 &7 5-g” 52 48" 50" 44" 3—107 36" 4—g” 36" F-2" 2’07 110"

STORM BAR SPACING SHALL BE SUCH THAT MAXIMUM SLAT SFAN SHALL

NOT BE EXCEEDRED.

FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)

$2015 TILTECO, INC.

/TiLIEC O me. \

8355 MW 36,
Phone : {305, 71—1530 ch (305)57? 15.31
EB-00067 19
WALTER A TILLIT Jr. P.E.
FLORIDA Lic. # 44167

TILLIT TESTING & ENG]NEER!NG COMPANY

3F168

ROLL—UP SHUTTER/WIND BORNE DEBRI REGION F.RL
RilL—4, RLL-3, A-200—-H, A—150—H SLATS DRAWN BY:
ROLLAC SHUTTERS OF TEXAS, INC.| °/%
5331 ORANGE STREET
PEARLAND, TX. 77581 15-059
PHONE: (800) 880~0922, FAX: (281) 485—0839
REY. No DESCRIFTION TATE RY. Na DESCRFTION DATE DRAKING No
L O 112 loutefio) |2 SHEET 11 OF 13

Z

4




IMUM A.S.D.

HEADER. L OADING

ART

_ IGN _PRESSURE RATING (p. s. f.
SPAN "L” (Ft.) FOR A GIVEN TYPE OF HEADER AND STORM_BAR HEIGHT (Ft.).

ND_CORRESPONDING MAXIMUM

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE {0AD)

“:’g‘g““ TYPE 1 HEADER @ TYPE 2 HEADER l® TYPE 3 HEADER
DESIGN 2 x 47X 147 2" x 4" X 178" 17 x 4" x 1/8"
FgfrswsngE STORM BAR HEIGHT STORM BAR HEIGHT STORM BAR HEIGHT
(p.s.f.)
< 707 7109 g 10 10° < 5-0° 5108 < 5-07 57107
oo 151" 140" 13-2" 12-0" 11°-2" 7—1" 66"
J5.0 14°-9" 13-0" 12—4" 12"-0" 10°-4" 71" &6—6"
40.0 13-9" 12°-2" 116" 120" 98" 71 6—6"
45.0 13'-0" 17'-5" 10°—10" 11'-6" 9'—1" 7'-1" &—4"
50.0 12'-4" 10°-16" 10°-4" 10—-11" 8'-8" 71" 60"
55.0 119" 1047 a'—10" 10°—5" 83 6'-10" 59"
60.0 11°-3" g—11" g'-5" 10'-0" 711" 6'-8" 5'—g"
65.0 10—10" 9'-6" 8-0” 97" 77" 53" 54"
70.0 10°-5" 9'-2" 8'-8" 9-3" 7—4” 6-0" T
75.0 10-1~ &'-10" 55" a-11" 7'=1" 5—10" 4117
80.0 9—g" 87" 8'-2" 88" &—10" 58" 4'—-g”
85.0 g-5" &'-4" 7-11" &-5% 67" 5-6" 4-8"
90.0 9-2" 8- 78" 8’2" 6'-57 54" 46"
95.0 8- 7-11" 7'~6" 711" 5-3" 52" +'-5"
100.0 88" 78" 73" 79" 61" 5—1" 4-3"
105.0 86" 76" =1 7'—6* 8'-0" 411" 4’2"
110.0 &'—4 7'=4” &—11" 7—a" 5'—10" 4'—10" 41"
115.0 8—1" 7-2" 6-g” 72" 5'-8" 4'-9" 40"
120.0 711 7-0" 68" 71" 57" 47" 311"
125.0 7 -9 &-10" 66" 6~11" 58" 46" 3'—10"
130.0 7'-8 &'—g" &'-5" 6—9% 5'-4" 4'-5" 3-g”
135.0 7'—6" &5'-7" &-3" . 5-3" 4'~4" 38"
140.0 7'—4 &°-g" &-2" &--6" 52" 4'-3" 37"
145.0 75" 65" &—-1" &-5" 51" 1'-z" 3-7"
150.0 71" &"-3" 5—11" 6'—4” 5'-g" 4’2" 36"
155.0 70 62" 5—10" 6-2" 411" 4'—1" 3'—5"
160.0 611 &—1" 5-g~ 6—1" 4'~10" 40" 35"
165.0 6'-9" 60" 58" 6—0" 4'-g” 3-11" 3—4”
170.0 68 5-11" 57" 511" 4-8" F-11" 33"
175.0 6'-7 5—10" 5-6* 510" =7 F=10" 33"
180.0 66" 5'-g" 5%-5* 5-g" 4=7" 3'-g” 32"
185.0 &'—5" 58" 54" 5-8" 4'-6" 3-g” 32"
190.0 6—a” 5 53" 57 45" 38" 3=
195.0 6'-3" 56" 5-3" 58" 4'—4" 37" 3—-1"

FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)

©2015 TILTECO, INC.

/TitlEcom:. \

TILLIT TESTING &:’ ENGINEERING COMPANY

Phor.l

(305}57:—1530 F'ax (505)871 i
EB-0006719

WALTER A, TILLIT Jr. P.E.

FLORIDA Lic. # 44167

ROLL—UP SHUTTER/ WIND BORNE DEBRI REGION F.RL
RLL—4, Rl ~3, A—200—H, A—150-H SLATS DRAWN BY.
ROLLAC SHUTTERS OF TEXAS, INC.| /%
5331 ORANGE STREET
PEARLAND, TX. 77581 15—059
PHONE: (800} 880-0822, FAX: (281) 4850839
REV. Mo DESCRIFTON PATE | RV, o PESCRETION DATE DRAWING No
i oD 11—238 | 04/02/15 E]

2

SHEET 12 OF 13




MAXIMUM A.S.D. DESIGN PRESSURE RATING (p. s. f.) AND

MULLION LOADING CHART

CORRESPONDING MAXIMUM_SPAN "L” (Ft,
MULLION AND MULLION SPACING (Ft.).

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD)

FOR A GIVEN TYP

OFf

NGTES :

OR MUILION

W0 STORM BARS

REFER TO ELEVATIONS ON SHEET 14 OF 13
INSTAL

A) MULLION SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED

2~. FOR MUILIONS INSTALLED W/ STORM BARS & HEADERS

A} MULLION SPACING SHALL BE SUCH THAT MAXIMUM HEADER SPAN SHALL NOT BE EXCEEDED

B) STORM BAR SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED

MAXIMUM _ANCHOR SPACING AT _SIDE RAILS *

“jfgf‘o“” TYPE 1 MULLION TYPE 2 MULLION TYPE 3 MULLION TYPE 4 MULLION
DESIGN 4" x 6”7 x 3/16" x4 x 1/8 2" x 3" x 1/8" 2" x 3" x 1/4"
PRESSURE
?:ZT); MULLION SPACING MULLION SPACING MULLION SPACING MULLION SPACING
407|405 |5 T08 |40+ TS 0|30 |IT LI LTOS|<I0|FOL|L OS5 TOSE
O0E V1z-0” | 127-0” | 120 | 9-0" | 90" | &=10" | 70" | -2 | &-7" | 95" | g7 | 7117 | 7-6"
350 12-0" | 12-0” | 12>=0” | 90" | 90" | 8-2* | 757 | &-9" 6-3" | g=11" } gz | 7-77 | 7-1"
40.0 20" | 1z2~0" | 12’~0" | &-10"} 9’0" 7'-8" | 727 6—8" &-0" Ll 73" &~10"
45.0 12-0" | 120" | 12-¢” | 8—¢" | 90" 7-3" | g—10" | 6-3" 5'-g” &§-3" | 76" | &-11" &'-6
50.0 12-0" | 12°=0" { 12’=p” | 7~10" 8-8" | 610" g-7" 60" 57" 7—117) 7-3" 68" &' —4"
55.0 120" | 12’=0" | 116" | 76" | &-3" | 6-6" | 6-5" | 510" | §-5" | 78" | 707 § 66" 6—1"
60.0 12-0" | 1z2~0" § 117-0" | 72" | 7-11 | 63" &-3" 58" 53" 7’—8" | g~r10" | &--q" | 5'-11
65.0 12-0™ } 2= | 107" | -1} 777 8'-0" &-1" 5'-g" 51" 73" 1 67" 52" 5'-g”
70.0 11-9" § 12~0" | 102 | &-8" | 74" 59" | 5'~11~ | 54" 5-0" 7~1*} -8 | 60" 5-8"
75.0 112 | 12-0" | g-10" &-5" 7-1" 5-7" | 5-g* 5'-3" 4'—y1” | 611" 6—4" | 510" 5-5"
86.0 110" | 12=0" | 9-6~ §-3" | 6-10"] 5-5"{ 5-8" 52" 4'—g" | 6—10"| -2~ 5-g” 5'-57
85.0 10°-8" | 118" 9'-3" &6-0” 6'-8" 5-3" | 5-7* 5—-0” 4'—-8" &-8" | 6-1" 5=7" 5-3"
90.0 10°~-4" | 11’-5" | g9-0” 510" 6°-5" 51" 5'-5" | 4'—11" 4’7" 66" | 5~11" | 56" 5-2"
95.0 -1 | 11— 8-g” | 5-¢" §-3" | 509" | 5-4" 410" 4'-6" | 6'-5" | 510" 5’5" 51"
100.0 9'—70" § 10—107) 8-6" | 5~7" 6-1" | 410" | 5-3" 4-g” 4'-5"1 6-4" | 5-9~ 54" 50"
105.0 g—7" | 106" | &-4" 55 | 6-0" | 49" | 5-2" 48" 4-2*1 &-3"| 5-8" 5-3" | 4-~11"
110.0 9'—4" 10°-37 | 8-2" 5'—4” | 5-10" 4—7" 51" 4’-7" 4'-2" &—-1" | 57" 5-2" 410"
115.0 g'-2" | 1o—1> | 7117 | 52" 5-g° 5" | 8-07 47" 4'—1" | &-0" | 5-6" 5—-1" 4'-9"
120.0 g-11"| 9—w* | 7-¢" | 51" 5=7" 45" | 4—11"} 46" 4'—g” | 3~11"] 55"} s5-0" 4'-9”
125.0 8-9" g9°-8" 7-8” | 5-0" 5—6" 4'—g” | =117 | 4-5" | 31| 5-10"} 5-4” | 411"} 45”7
730.0 g-7" | 9—6" | 76" | =117} 54" | =37 | a~10" | 44" | 5_40" | 5-9" | 5-3" | 411" | 47
135.0 85" | g=3" | 74" | gg* | 5=3" | 4o | 49" | ¢-3" | 9" | &5-9" | 52" | 4=10"| 4-6"
140.0 83" g-1* | 73" ¢-8 | 527 =1 | +—8" | -2 | 39" | 58 | 5-2"| 4-9" | 4-5"
145.0 8=2" | g | 7=1" | 4—7 | 51" | ¢—0" | -8 | -1 | 8" | 5-7 | 5—1" | 4-8" | 44"
1500 | 8=0" | 8107 | 70" | 47" | 50" —11* | e | w0 | 5o | seer | soor | 487 | 4-sn
155.0 | 7—-17" | 8-8" | 6-10"| 4o~ | 411" ] 311 =67 | I-11"| 3" | 5-5" | 4=11" | 4=7" | 4-2"
160.0 79 | 86" | 69" | g5 | 410" | 310" | 4" | F-11"| 5.6 | 5=5" | 4117 | 46" | 41"
165.0 7-g" | 8-5" 6'-8" 44" 4'-9" | 3-g” 4'~5" § 310" | F_s5* | 5-4 | 4-10" | 457 4—1"
170.0 7'—6" 83" | 6-7" 4'-3" 4'-8" 3'-g” 44" 3-9" 35" | 53" | 410" | 4-5" 4-0"
1750 75" §-2" 5'-5" 43" 4’-8" 3'—8" 44" 3-9” 3—4" 5'-3% 4-9” | 4'-4" | 341"
180.0 7—4” &-1" S 4'—z" 47" 37" 4'-3" 3-8" 33" 52" 4'-g” =37 | F-11"
185.0 73"} 711" | &-3" =1 | g | 3 | 4=z | s | ez | sm2v | 48 | =2 | 3_i0”
190.0 7—1* } 7—10m | &-2" 4-0" 4'-5" 3'—6" 4'~2" 3-77 ] 3-2" | 5-1* &g 4'-2" 3-8~
195.0 70"t 7-9” | 6-1" | 2—0” | 45" | 36" | #4-1" | 3-6" ) 3-2v | 507 | -7 | 417 | 3_9"

* MAXIMUM ANCHOR SPACING (in) AT SIDE

RAILS VERSUS EDGE DISTANCE =

£.D.

DISTANCE.

MAXIMUM ANCHOR SPACING ARE VALID FOR 3" EDGE

MAXIMUM SLAT TYPE 1 ((4)) MAXIMUM SLAT TYPE 2 ((8))
(R~ AS.D. DESIGN s
A.S.D. DESIGN T .5.0. =
PRESSURE il B ru—s0) PRESSURE (RU-32)
RATING SIDE RAILS SIDE" RAIL RATING SIDE RAIL
(p.s.F.) vy AEDE | BULD-00T b sio0mer _mwe BOIE—00T {p.5.F) Pras wounr| S| BULD OUT
Masonry | 5 12" 4 6" 4127 3 172" 6" masonryy 5 172 | 5 1720 &"
80 OR LESS - - . 80 OR LESS
CONCRETE &" 5" 6" &” 6" 6" CONCRETE &* & &"
wmasony | ma 3 & 3 RS masonery 4 4 1/2 &
>80 O 120 >80 T 120
CONCRETE | [ & &" &” 6 6" CONCRETE 6" 5" &"
masonry | wa N/A 5 1/2°) NA NAA 5" masoner § 3 172 4" &”
120 7O 150 : >120 10 150
CONCRETE 8" & 5" 5~ 5 1/27 & CONCRETE &” &° 8"
MASONRY NAA N/A 5" NAA N/A 47 MASONRY 3" 3 127 &°
150 1O 195 >150 O 195
CONCRETE &" 5% &” 8" 57 &° CONCRETE ‘e & &7
MAXIMUM SLAT IYPE 3 (D) MAXIMUM SLAT TYPE 4 (@)
A.S5.0. DESIGN AS.D. DESIGN
PRESSURE @ (-2 @ -y PRESSURE ® (res-37)
RATING SIDE RAIL SIDE RAIL RATING SIDE RAIL
(p.5.f.} Prcs wouwTy TEDE wunr | WAL wouny | INSDE 1 BULDOLT {(p-s.f) s sount| SR MOUNT
MASONRY I3 s* & &" 8° 6" MASONRY &" & &
B0 OR LESS 8a OR LESS
CONCRETE 57 6" 6" - &” 6" CONCRETE| &" 8" &"
MASONRY 57 5" 5" 5 1./27 5 1/27 6~ MASONRY & &" &
>80 TO 120 >80 10 160
CONCRETE ) &* &" &* &° [ CONCRETE | 6_" &" I
MASONRY | ¢ 1/2" 4 1/2" & 5 5% 5"
> 120 TO 150
covcreel 6 s o o p= p=
MASONRY |3 1/2" 4" &" 4" £ &*
[»150 TO 1895 .
CONCRETE | 6" & & & &” [

FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)

©2015 TILTECO, INC.

/ TILIECO me. \

TJLL!T TESTING & ENGINEERING COMPANYS
J316.

W. 36¢h, SL, Ste. VIRGINIA GARDENS, FL.
B e (305fa71— 1530 Fox : {305)871—1531
EB--0006713

WALTER A TILLIT Jr. P.E.
FLORIDA Lic. # 44167

ROLL~UP SHU-ITER/ WIND BORNE DEBRI REGION F.R.L
RLL—4, RLL—3, A—200—H, A—150—H SLATS DRAWN BY:
ROLLAC SHUTTERS OF TEXAS, INC. mﬁg:s
5331, ORANGE STREET
PEARLAND, TX. 77581 15-059
PHONE: (800) BBO—0922, FAX: (281) 485—0B39
. R s SHEET 13 OF 13




